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V· w m3/h lub l/s
A, B w m:
X w m:
H1 w m:
ƒH1 w m/s:

1

L w m: 1)

ƒL w m/s:
H1 max w m:
� tZ w K:

� tL w K:
1 1

Aeff w m2:
� pt w Pa:
LWA w dB(A):
LWNC :
LWNR : LWNR = LWNC + 2
LpA, LpNC :

L pA � L WA – 8 dB
L pNC � L WNC – 8 dB

Aeff V
.

min V
.

min V
.

max* V
.

max* H1max (+10K)

m2 l/s m3/h l/s m3/h m

315 0.022 70 252 300 1080 5

400 0.031 125 450 500 1800 6

630 0.077 230 828 1020 3672 8

800 0.106 320 1152 1220 4392 9

‡ = 3000 m3/h
(830 l/s)

:
∆tZ = -10 K
∆tZ = +10 K

   L WA = 50 dB(A)
A =  5.00m
B =  6.00m

                                                   X =  2.50m

H 1 = 4.50 m

:
LWA = 49 dB(A) (LWNC = 43 NC)
∆pt = 48 Pa

‡ = 3000 m3/h = 830 l/s
∆tZ = +10 K
H1max = 5.5 m

A = 5.00 m
H1 = 4.5 m
ƒH1 < 0.2 m/s

L = X + H1 = 2.5 + 4.5 = 7 m
ƒL = 0.22 m/s
∆tL/∆tZ = 0.09
∆tL = -10 x 0.09 = -0.9 K

* ^= )

1.80 m
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